Tableaux des Puissances de Dix (I)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (I) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,5 0,0005 0,05 0,005
3,01 1,505 0,001505 0,1505 0,01505
9,02 4,51 0,00451 0,451 0,0451
5,78 2,89 0,00289 0,289 0,0289
4,77 2,385 0,002385 0,2385 0,02385
2,62 1,31 0,00131 0,131 0,0131

X 0,3 0,003 0,03 0,0003
8,11 2,433 0,02433 0,2433 0,002433
5,38 1,614 0,01614 0,1614 0,001614
2,69 0,807 0,00807 0,0807 0,000807
6,93 2,079 0,02079 0,2079 0,002079
4,82 1,446 0,01446 0,1446 0,001446

X 0,0004 0,004 0,4 0,04
1,63 0,000652 0,00652 0,652 0,0652
4,04 0,001616 0,01616 1,616 0,1616
9,49 0,003796 0,03796 3,796 0,3796
7,09 0,002836 0,02836 2,836 0,2836
6,86 0,002744 0,02744 2,744 0,2744

X 0,03 0,0003 0,3 0,003
7,98 0,2394 0,002394 2,394 0,02394
9,13 0,2739 0,002739 2,739 0,02739
2,82 0,0846 0,000846 0,846 0,00846
6,52 0,1956 0,001956 1,956 0,01956
1,13 0,0339 0,000339 0,339 0,00339
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